Domácí úkol pro žáky, kteří chyběli před Vánoci. Prosím vypracovat na papír.
1) Dělení se zbytkem :
a) 16 : 7 =                        24 :7 =                            36 : 7 =
b) 20  :  8 =                      28 : 9 =                            38  : 5 =
c) 9 : 2 =                           19 : 3  =                           44 : 8 =
d)  6 : 5  =                         29  : 3 =                           50 : 6 =
e)  27 : 4 =                        42 : 8  =                           21 : 4  =
   2) Násobení :
      a)  123                              244                       521                            709
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b)   548                                8042                                          1671
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